xF E & B KR ® MM ¥ ® F

SFITHETATH
£AA R TEEM |RERGIOFAE([HEK)| EB(kg)| BHEWM) | FEM) | REWME) ik No.
R1.77 |FELCA At BY = o
R7.77 |I2ALA &% Y = @
R7.7.7 |CIE5 a5 #3Y -
R7.7.7 |1E<E0 &% #Y = ®
R1.77 |Fv~_y & Y = @
R7.7.7 oLyt &% Y = ®
R1.77 |[RE(H) il Y — K ®
R1.IT |hZ &% %Y = ®
R1.7.7 |LAZ & Y = @
R1.77 |&w5Y(R—3—) 4 Y 502
R7.7.7 |Zw3Y a5 #3Y 11.0
R1.7.7 |DEbe BH By 10 )
R1.77 [mEbe At Y = )
R1.77 |9 &% #Y =
R1.7.7 |k=k B By 4 @
R7.7.7 |k=b Ak Y = @
R1.77 |E—=v &% Y = @
R7.7.7 |&5%52L Ak Y = ®
R1.7.7 |SVPLAITA At Y -
R1.7.7 |ATFZESD FRhE) Y 0.2
R7.7.7 |ZEE®D &% Y -
R7.7.7 [hAL& FRhE) Y 5
R7.7.7 |hAL& AaE Y -
R7.77 |IEhisLs #4fE By 10
R7.77 [IEhiLs a5t By =
R7.7.7 [S&LE aF iy -
R7.7.7 |f=Fh# &% i) = ®
R7.7.7 [H£LWMzIT F4 Y 0.1
R7.7.7 |#LULM=1F AaE Y -
R7.7.7 |[ADELETF &% iy -
R7.7.7 |A%EL&HL FhiE #iY 0.1
R7.7.7 | A7EL&HL =1 Y -
R7.7.7 |5t Y 11.0
R7.7.7 |#&t 0] 11.0 iR RE
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2 % B R % M & @® & F

SRTETATH
FHH RS TEEHN |FEMGIOFE| H=2W [E2B(kg) | BEFE) PiEA) RIE (M) & No.
R7.7.7 |[EWZA dtimE A%t 14 10 1512 1350 702 ®
R7.7.7 |[EWZA i A%t 1.1 10 1836 1620 1404 0]
R7.7.7 |FEWCA &t Haxt 12,5 @
R7.7.7 [I2ALA dtimE At 0.7 10 2700 @
R7.7.7 [I2ALA £ At 8.3 10 2700 2376 2160 @
R7.7.7 [IALA a5 kel 10.1 @
R7.7.7 |ZI1F>5 BE A%t 0.2 10 4320 3780
R7.77 [Z1E5 = kel 10
R7.7.7 |ZI1F>5 Ait At 0.3
R7.7.7 |1&<&ELy £H Bxt 11.9 15 972 756 648 [©)
R7.7.7 [l&<&ELy CH At 11.9 ®
R1.7.7 [FvrRy BE At 21.3 10 1080 1037 972 @
R7.7.7 |F¥AY R At 25 10 1296 324 @
R7.7.7 |¥+~_Y &t kel 25.0 @
R7.7.7 |RoL2V™ BE HAxt 03| —%& 227 162 151 ®
R7.7.7 |RoLovry =5 kel 02| —% 130 130 119 ®
R7.7.7 |RoL2V™ B/F At 0.8 ®
R7.7.7 |[R&E (F) idei] kel 06| —=X 162 86 ®
R7.7.7 |[RE(A) R HAxt 0.7 5 2700 1836 1188 ®
R1.7.7 |[f&E &it kel 2.9 ®
R7.7.7 |LAR K% At 13.0 10 1177 @
R7.7.7 LA &it kel 13.0 @
R7.77 [Ep5Y(X—3—) FrE At 01| 50K 2484 864 756
R7.7.7 |E9>3Y(HB) 1Lz Haxt 14 5 2484 2160 1836 ®
R7.7.7 |Ew>3Y(H) B8 At 04 5 2484 1728
R7.7.7 [Ew5Y &it kel 48
R7.7.7 |hEbe fidc] HAxt 05 10 3024 2484 1944 [©)
R1.7.7 [DFbe BRS Haxt 10 [©)
R7.7.7 |hEb%e B/F At 0.7 [©)
R7.7.7 |9 (4&) e Haxt 0.7 5 2160 1728 1080 ®
R7.77 |H9(E) R HAxt 47 4 1296 1188 864 ®
R7.7.7 |9 (R) BE Haxt 4 ®
R7.7.7 |59 Ait At 6.0 @
R7.7.7 [k=h dtimiE Haxt 44 4 1944 1404 1188 ()
R7.7.7 |k=h fidc] At 1.2 4 1620 1188 1080 (1)
R7.7.7 [k=h aF kel 7.3 (W)
R7.7.7 |E—<Y R At 1.1 0.15 92 92 65 @
R7.7.7 |[E—=> &it kel 1.1 ®
R7.7.7 |&585CL R At 0.2 5 1620 1620 1404 ®
R7.7.7 [£535CL FE Haxt 2.1 10 4774 3931 3672 ®
R7.7.7 |&585ACL A|F At 3.1 ®
R7.7.7 S0V AIFA &5 kel 0.3 2 3564 3240
R7.7.7 [EPVAITA Ait At 0.3
R1.7.7 |Z12ESH il Haxt 0.2 0.2 216
R1.7T |ZEEFESD A&t At 0.2
R7.7.7 [hAL& il Haxt 5
R7.7.7 |hAL&L A|F At 0.6
R7.7.7 [[EhirL& il Haxt 41 10 2484 1620 1080 ®
R7.7.7 [[Ehi L& Ait At 42 @
R7.7.7 [&&ELVh =I5 Aaxt 0.2 0.5 227
R7.7.7 [&&ELVh BR Aaxt 05
R7.7.7 [&&LVh aF ko) 0.3
R7.77 |f-Fh&E Nl Fizpoi 100 20 2700 2484 2376 ®
R7.7.7 |f<FhE A&t kol 10.3 ®
R7.7.7 |£LWM=1+ FE Aaxt 04 0.1 184 119 108
R7.7.7 [£LLM=l A&t Haxt 0.4
R7.7.7 [ZDEFT RH Aaxt 04 02 86 52
R1.7.7 |ZOELT aF Aaxt 0.4
R7.7.7 |A7EL&HL R Aaxt 0.3 0.1 79 79 43
R1.7.7 |37%L&HL il Haxt 0.5 0.1 68 59
R7.7.7 [57%L&HL Ait At 0.7
R7.7.7 |& ko) 116.9
R7.7.7 |#&t ko) 116.9 iR RE
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T ®E & H K m M OB & & F

SFTHETHTH
F£HH8 B FTEEH |FEWMSIOAE|HEK) 2H (ke)| HEM) o {E (M) ZIE (M) &%
R7.77 |YAZT &t Y -
R7.77 |33 &t Y -
R7.77 |44 5] Y 0.5
R7.77 |F44 &t Y -
R7.77 | 3RES At Y = ©)
R7.7.7 |Lv6LL FhiE Y 0.35
R7.7.7 (LWL At Y -
R7.77 |[AB(F7—LR) B By 8 @
R7.7.7 |*@> &% ) = @
R7.7.7 | LA (FEtth) FhiE Y 15 ®
R7.7.7 [FLyd At Y = ®
R7.7.7 &t Y -
R7.7.7 |#a&t Y - iR RE
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F E & B Kk % i B #® & #F

SFTHETATH
F£/H mf TEENH |FEWMSIOAE| #$EW |28 ke)| SEA) & (M) Z{E (M) %% No.
R7.7.7 |YAT (P3F3T—ILF) |55 Lisbol 0.5 10 6,480 6,480 4,860 ®
R7.7.7 |YAT(AL) B Lizks 15 10 8,100 5,940 5,184 ©)
R7.7.7 |YAZ (+/3—ILR) | B Lizks 0.2 10 5,940 5,400 ©)
R7.77 |YAZ L Lisbsl 22 @
R7.77 |£3% I Lizks 24 5 6,480 5,940 4,104 @
R7.7.7 |3% L Lisbsl 24 @
R1.77 |§4% [ITE1] Lizks 0.2 05 518 486 378
R1.77 |§4% FhhE Lizks 0.1 05 454 432 410
R7.77 |F44% L Lisbsl 0.5
R1.7.7 |ARES(FIIIT) AT ks 0.3 ®
R7.7.7 | RES(EIE) I A% 0.35 ®
R7.7.7 |RES L Lisbs) 0.7 ®
R7.7.7 LBl #E Haxt 0.1 0.35 594 594 432
R7.7.7 [Lv5LL = X 0.1
R7.7.7 |AR(FZ—ILR) Frhe A% 0.3 8 18,360 11,880 11,340 @
R7.7.7 |*AY L X 0.5 @
R7.7.7 |$ UL yh (FEth) FE A% 15 ®
R7.7.7 |9 L vh (FEHh) Lz Lizks) 15 ®
R7.7.7 |$ UL yh (FEth) fEIN A% 15 ®
R7.7.7 | L h (FEtth) FrhE Lizks) 15 ®
R7.7.7 |$ UL yh (FEth) F50 A% 15 ®
R7.7.7 |9 L v L X 11.0 ®
R7.7.7 |it Lisbs) 174
R7.7.7 |#a&t Lisbs) 17.4 iR RE
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